Asir-contrib 2018 4FJE
mEILfER (oK)

asir_contrib_update () ‘

import ("names.rr");
asir_contrib_update(|update=1);

Win: AppData/Roaming/OpenXM/1lib/asir-contrib ~\% 7
n—F.

Z DOfti: .OpenXM/0OpenXM/1lib/asir-contrib ~¥ 7 v u— |,
update=2 : helph() T#/1 ¥ % document 24 7 > 1 —F.
update=4 : win i ox_pari, ox sm1 %Z % 7 > &2 — I [check]
6:30AM | BEHT.
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module sample;

static A;

localf init;

localf foo;

def init() { A=2; }

def foo(N) { return(A°N); }
endmodule;

sample.init()$
sample.foo(8);

module {t:C localf Z 4K L 72 WG4

openxm oxlistlocalf 7 7 A L%
<=2 7)l: http:
//www.math.kobe-u.ac.jp/0OpenXM/Current/doc/asir2000/
html-ja/man/man_21.html#g_t_00e3_0083_00a2_00e3_0082_
00b8_00e3_0083_00a5_00e3_0083_00bc_00e3_0083_00ab
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http://www.math.kobe-u.ac.jp/OpenXM/Current/doc/asir2000/html-ja/man/man_21.html#g_t_00e3_0083_00a2_00e3_0082_00b8_00e3_0083_00a5_00e3_0083_00bc_00e3_0083_00ab
http://www.math.kobe-u.ac.jp/OpenXM/Current/doc/asir2000/html-ja/man/man_21.html#g_t_00e3_0083_00a2_00e3_0082_00b8_00e3_0083_00a5_00e3_0083_00bc_00e3_0083_00ab

O testing/noro/grert.rr (2018.04.09). chinese remainder Th
z vz GB 97

[1828] load("grcrt.rr");

[1885] noro_grcrt.f4_chr([x"2+y~2-4,x*xy-1], [x,y],0);
[0] [1]1[2]

[CRT,2.5e-05,IR,0.000126,#P,1]
[x+y~3-4xy,x"2+y~2-4,y*x-1]

[noro_grcrt.f4_chr(cyc1ic(5) ,vars(cyclic(5)),0); ]
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6 H,7H
© ox_gs1 (tk, oh, 2018.06.08). GNU scientific library @ ox fl.

#l: €T ANBEIZ LD (73(1 — cos(xg) cos(x1) cos(x2))) ™t D
[0, 7]® TOEMS.

Pid=ox_launch(0,getenv ("OpenXM_HOME")+"/src/ox_gsl/ox_gsl");
ox_cmo_rpc(Pid, "gsl_monte_vegas_integrate",
quote(1/(3.1473*(1-cos(x0) *cos(x1)*cos(x2)))),
[0.0,0.0,0.01, // BESTHUER T b
[3.14,3.14,3.14], // BE#EE G
10000);  // Vv 7 LofEk
Ans=ox_pop_cmo (Pid) ;

1.3819 Z 9 (1.39320... B3ER).
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6H,7H x|
© ox_pari. ox_pari CTHIHA]HEZ&BIE—% (HIAK)
O gtt_ds.rr (gtt=Goto, Tachibana, Takayama, (2018.07.26)),

tk_ds_ahg.rr
a N
[1822] load("gtt_ds.rr");
[2720] gtt_ds.direct_sampler([[4,14,3],[10,6,5]],
[(1,9/10,11/101,[1,13/10,99/100]1,[1,1,11]1);

[013]
[851]1]
[201]
[2721] gtt_ds.direct_sampler([[4,14,3],[10,6,5]],
([1,9/10,11/10],[1,13/10,99/100]1,[1,1,1]11);
[310]
[644]
[111]
\ J

’openxm listusage gtt.ds.rr
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O osmuldif.rr (os=0Shima, {3 commit).

http://www.math.kobe-u.ac.jp/0OpenXM/Current/doc/
other-docs/muldif/changelog.pdf, xypoch (2018.08.30)

(:mkdir -p "/asir/tex ;}

HEIZ B S 115 “asir/tex/risaout.tex | package 23/& D 2\, T
ALz am.

\usepackage [all]{xy} h
\usepackage{tikz}
%
\
import("os_muldif.rr");
os_md.dviout ("\\begin{xy} "+os_md.xypoch(70,3,7,10|ar=0)
+"\\end{xy}");
/1T —=03H1UL ~/asir/tex/out.tex CGHEIIN3) ZFEL
os_md.dviout("");
J
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“/asir/tex/out.tex 65 aAEXRLTK % &

e——9
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8 H, 9 ki
O osmuldif.rr (fiBf commit). taylor0ODE (2018.09.25)

(:os_md.show(os_md.taylorODE(2Iseries=h,dif=1,runge=2,c1=1))$ :)

1
§h(((2f‘3,b2321 — fy)h +2by + 2by — 2)f + (2be1C1 + 2fbycyr — fx)h)
(1)

/home/web/0penXM/Current/doc/other-docs/cron-other-docs.sh
(10:30AM) TR D H i % F BHEHS.

© ox_python (2018.09.08)

Pid=ox_launch(0,getenv ("OpenXM_HOME")+"/src/ox_python/ox_python")$

ox_cmo_rpc(Pid, "PyRun_String","str(eval(’1+2°))")$

printf("result of PyRun_String str(eval(’1+2’)) = %a\n",
ox_pop_cmo (Pid))$

ox_cmo_rpc(Pid,"eval","1+2")$

printf ("result of eval 1+2= Ja\n",ox_pop_cmo(Pid))$
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101,111
os muldif (M%),
© OpenXM/src/sage/asir.py for SAGE (2018.09.08),

SDCE The Sage Notebook admin Toggle | Home | Published | Log | Settings

Version 83

test-asir
last edited Mar 22, 2019, 1:00:07 PM by admin

(File.. 4 |(Action. ¢ [ Data.. ¢|[sage &) Typeset | Load 3-D Live (] Use java for 3-D m Worksheet ml
0@

load('/Users/nobuki/0X4/0OpenXM/src/sage/asir.py')
asir.eval('F=fctr(x"10-1)")
asir.get('F')

"[[1,17,[%-1,1],[x+1,1], [x"4-x"3+x"2-x+1,1], [X"4+x"3+x"2+x+1,1]]"
Oo®

‘asir.eval('def foo(N) {S=0;for (I=0; I<=N; I++) {S+= I;}return(S);} F=foo(100)")

'5050"
O@
‘asir.get( 'F')

'5050"
L]
asir.eval('load("os_muldif.rr")")
asir.eval('os_md.show(os_md.taylorODE(2|series=h,dif=1,runge=2,cl=1))")

0"

T E———
(4) %h((@fybzam — fy)h 4 2by + 203 — 2) f + (2fzbrc1 + 2fzbacy — fo)h)

o = = =




[10H, 11 H, #i % |
O tk_approx-r.rr (2018.11.22) cont_frac,

O tk.rk-mfac.rr (2018.11.13), (% Runge-Kutta, for ec
project), &

© dp-monomial hilbert poincare (2018.11.12, 2019.03.18,
asir2018)

[1830] poly_hilbert_polynomial([x"2*y~2,y"2%z"2] | v=[x,y,2z]);
[not_implemeted_yet,2*n+5,[ 1 3 6 10 ],h"6-2%¥h"4+1,3]
[1831] poly_hilbert_polynomial([x"2*y~2,y"~2%z"2] |

v=[x,y,z],sml=1);
[h~2+6*h-7,2%h+5]
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12H,1H
O noro_pd.rr (2018.12.24), I N J DFHHEIC nd_f4 trace() %

9.
http://www.math.kobe-u.ac.jp/0OpenXM/Current/doc/
asir-contrib/ja/noro_pd-html/noro_pd-ja.html

A=[j*hxg*f*exdxb, jki*gkd*ckb, j*i*xh*gxd*b, j*ixh*exb,i*exc*b
B=[a*d-j*c,b*c,d*e-f*xg*h]$

V=[a,b,c,d,e,f,g,h,i,j,z]$

noro_pd.gbf4(1)$

noro_pd.ideal_intersection(A,B,V,0);

O cgiasir.smil (2018.12.12),
http://asir2.math.kobe-u.ac.jp/cgi-bin/cgi-data-b.sh
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2H3H
© os_muldif, solveEq, baseODE (2019.03.05), c2csp

--> L=os_md.baseO0DE([y-x"2-t/2,2*x*y+b]) ;
[x2-2%x"3-t*x-b, M§]

MW7) ODE %, HHERE D ODE ~&H. x2 = X" %D T
X' =y —x?>—t/2,y) =2xx*xy+blE x" —2x3—tx — b (Py).

O gtt_ekn3.rr (2019.03.21). 2 LB HERD /T X —FHEER L

1L\ contiguity DEANER 7L 2 XA, igedetrl F721F
asir2018, binary splitting. https://arxiv.org/abs/1803.04170
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2H3 Hfi
O gtt_ekn3.rr, 3 x 3 Tl binary splitting DXIRH D .

[4617] gtt_ekn3.assert2(15|bs=1);

Marginal=[[1950,2550,5295], [1350,1785,6660]]

p=[[17/100,1,10]1,([7/50,1,33/101,[1,1,11]

gtt_ekn3: Timing (int) =4.644 (CPU) + 0 (GC)
real time=4.64672

C-c C-cinterrupt ?(q/t/c/d/u/w/?) t

Abort this computation? (y or n) y

return to toplevel

[4618] gtt_ekn3.assert2(15);

Marginal=[[1950,2550,5295], [1350,1785,6660]1]

p=[[17/100,1,10],[7/50,1,33/10],[1,1,1]]

gtt_ekn3: Timing (int) =6.736 (CPU) + O (GC)

real time=6.73749
C-c C-cinterrupt ?(q/t/c/d/u/w/?) t

4.644 (total),

6.736 (total),

~

%
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2H3H #&| O gtt_ekn3.rr

5 x 5 S T

) D G &', Jil 3 A

5| e [[4*N,4*N,4%N,4*N,4%N],
o [2%N, 3*N,5*%N,5%N,5*N]].

N =20
asir2000, igcdentl(0) | 101s

asir2000, igcdentl(3) | 91.6s
asir2018, bs, newpath | 119s
asir2018, newpath 50.1s

1000
L

600
I

Time(s)

400
L

200
L

o .
T T e S i i i i

T T T T T
[ 20 40 60 80 100

N

[1828] load("gtt_ekn3.rr");

[3757] gtt_ekn3.test5x5(20 | bs=1);
(f1,1/2,1/3,1/5,1/71,01,1/11,1/13,1/17,1/19],
[1,1/23,1/29,1/31,1/371,[1,1/37,1/41,1/43,1/471,[1,1,1,1,1]]

Binary splitting: M(t +n—1)M(t+n—2)--- M(t). M(t+i) IZ
131
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2H3H #i&| O gttekn3.rr (2019.03.21).

g1 | 5 x 5 Wl £F A
ST ogkm MR
£ AW e AoN 4wl 450]
S ooa0®®®” . J‘ ,-;;;;++++++++++++ [2%N Sl S o
B pantiiii et

[1828] load("gtt_eknB.rr");
[3757] gtt_ekn3.test5x5(20); // bs 7L
[(1,1/2,1/3,1/5,1/71,01,1/11,1/13,1/17,1/19],

[1,1/23,1/29,1/31,1/37],[1,1/37,1/41,1/43,1/47],[1,1,1,1,1]]
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